### **MARION COUNTY, TEXAS**

PRIMARY ELECTION

3/1/2022

Page 1

# Official Results Registered Voters 1461 of 7508 = 19.46% Precincts Reporting 10 of 10 = 100.00% Paper Sheets Counted

# United States Representative, District No. 1 - DEMOCRATIC PARTY

| ı       | Precincts |         |         | Voters     | -     |
|---------|-----------|---------|---------|------------|-------|
| Counted | Total     | Percent | Ballots | Registered |       |
| 10      | 10        | 100.00% | 304     | 7,508      | 4.05% |

| Choice               | Party       | Absente | e Voting | Earl | y Voting | Election Da | y Voting | Total       |
|----------------------|-------------|---------|----------|------|----------|-------------|----------|-------------|
| Jrmar (JJ) Jefferson |             | 17      | 32.08%   | 56   | 56.00%   | 59          | 48.36%   | 132 48.00%  |
| Victor D. Dunn       |             | 17      | 32.08%   | 23   | 23.00%   | 21          | 17.21%   | 61 22.18%   |
| Stephen Kocen        |             | 12      | 22.64%   | 13   | 13.00%   | 30          | 24.59%   | 55 20.00%   |
| Gavin Dass           |             | 7       | 13.21%   | 8    | 8.00%    | 12          | 9.84%    | 27 9.82%    |
|                      | Cast Votes: | 53      | 100.00%  | 100  | 100.00%  | 122         | 100.00%  | 275 100.00% |

### **Governor - DEMOCRATIC PARTY**

| 3       | recincts | i       |         | Voters     |         |
|---------|----------|---------|---------|------------|---------|
| Counted | Total    | Percent | Ballots | Registered | Percent |
| 10      | 10       | 100.00% | 304     | 7,508      | 4.05%   |

| Choice                      | Party       | Absente | e Voting | Earl | y Voting | Election Da | y Voting |     | Total   |
|-----------------------------|-------------|---------|----------|------|----------|-------------|----------|-----|---------|
| Joy Diaz                    |             | 1       | 1.79%    | 9    | 8.57%    | 13          | 9.56%    | 23  | 7.74%   |
| Rich Wakeland               |             | 0       | 0.00%    | 2    | 1.90%    | 4           | 2.94%    | 6   | 2.02%   |
| Michael Cooper              |             | 4       | 7.14%    | 7    | 6.67%    | 24          | 17.65%   | 35  | 11.78%  |
| Inocencio (Inno) Barrientez |             | 0       | 0.00%    | . 1  | 0.95%    | <b>√1</b> . | 0.74%    | 2   | 0.67%   |
| Beto O'Rourke               |             | 51      | 91.07%   | 86   | 81.90%   | 94          | 69.12%   | 231 | 77.78%  |
|                             | Cast Votes: | 56      | 100.00%  | 105  | 100.00%  | 136         | 100.00%  | 297 | 100.00% |

## **Lieutenant Governor - DEMOCRATIC PARTY**

|         | Precincts | ······································ |         | Voters     |         |
|---------|-----------|--|---------|------------|---------|
| Counted | Total     | Percent                                | Ballots | Registered | Percent |
| 10      | 10        | 100.00%                                | 304     | 7,508      | 4.05%   |

| Choice                                 | Party       | Absente | e Voting | Earl | y Voting | Election Day | Voting  | Total       |
|--|-------------|---------|----------|------|----------|--------------|---------|-------------|
| Carla Brailey                          |             | 23      | 41.82%   | 32   | 32.00%   | 52           | 40.63%  | 107. 37.81% |
| Michelle Beckley                       |             | 13      | 23.64%   | 36   | 36.00%   | 40           | 31.25%  | 89 31.45%   |
| Mike Collier                           |             | 19      | 34.55%   | 32   | 32.00%   | 36           | 28.13%  | 87 30.74%   |
| ************************************** | Cast Votes: | 55      | 100.00%  | 100  | 100.00%  | 128          | 100.00% | 283 100.00% |

### **MARION COUNTY, TEXAS**

**PRIMARY ELECTION** 

3/1/2022

Page 2

Official Results

Registered Voters

1461 of 7508 = 19.46%

Precincts Reporting

10 of 10 = 100.00%

Paper Sheets Counted

### Attorney General - DEMOCRATIC PARTY

| F       | Precincts |         |         | Voters     |         |
|---------|-----------|---------|---------|------------|---------|
| Counted |           | Percent | Ballots | Registered | Percent |
| 10      | 10        | 100.00% | 304     | 7,508      | 4.05%   |

| Choice                  | Party       | Absented | Voting  | Earl | y Voting | Election Da | y Voting | Total       |
|-------------------------|-------------|----------|---------|------|----------|-------------|----------|-------------|
| Rochelle Mercedes Garza |             | 14       | 25.45%  | 33   | 32.67%   | 55          | 42.97%   | 102 35.92%  |
| Joe Jaworski            |             | 10       | 18.18%  | 22   | 21.78%   | 12          | 9.38%    | 44 15,49%   |
| S. "TBone" Raynor       |             | 3        | 5.45%   | 5    | 4.95%    | 6           | 4.69%    | 14 4.93%    |
| Lee Merritt             |             | 19       | 34.55%  | 22   | 21.78%   | 23          | 17.97%   | 64 22.54%   |
| Mike Fields             |             | 9        | 16.36%  | 19   | 18.81%   | 32          | 25.00%   | 60 21.13%   |
|                         | Cast Votes: | 55       | 100.00% | 101  | 100.00%  | 128         | 100.00%  | 284 100.00% |

# Comptroller of Public Accounts - DEMOCRATIC PARTY

|         | Precincts |         |         | Voters     |       |
|---------|-----------|---------|---------|------------|-------|
| Counted | Total     | Percent | Ballots | Registered |       |
| 10      | 10        | 100.00% | 304     | 7,508      | 4.05% |

| Choice           | Party       | P                                       | Absente | e Voting | Ea  | rly | / Voting | Election Da | y Voting | Total       |
|------------------|-------------|---|---------|----------|-----|-----|----------|-------------|----------|-------------|
| Angel Luis Vega  | •           |   | 10      | 18.18%   | 2   | 7   | 27.55%   | 38          | 30.16%   | 75 26.88%   |
| Tim Mahoney      |             |   | 12      | 21.82%   | 2   | 6   | 26.53%   | 40          | 31.75%   | 78 27.96%   |
| Janet T. Dudding |             |   | 33      | 60.00%   | . 4 | 5   | 45.92%   | 48          | 38.10%   | 126 45.16%  |
|                  | Cast Votes: | *************************************** | 55      | 100.00%  | 9   | 8   | 100.00%  | 126         | 100.00%  | 279 100.00% |

### Commissioner of the General Land Office - DEMOCRATIC PARTY

| 1       | recincts |         |         | Voters     |         |
|---------|----------|---------|---------|------------|---------|
| Counted | Total    | Percent | Ballots | Registered | Percent |
| 10      | 10       | 100.00% | 304     | 7,508      | 4.05%   |

| Choice               | Party       | Absente | e Voting | Early | y Voting | Election Day | y Voting |   |     | Total   |
|----------------------|-------------|---------|----------|-------|----------|--------------|----------|---|-----|---------|
| Jinny Suh            |             | 12      | 21.82%   | 18    | 18.56%   | 20           | 16.13%   | 1 | 50  | 18.12%  |
| Jay Kleberg          |             | 19      | 34.55%   | 29    | 29.90%   | 22           | 17.74%   | 1 | 70  | 25.36%  |
| Michael Lange        |             | 17      | 30.91%   | 18    | 18.56%   | 39           | 31.45%   |   | 74  | 26.81%  |
| Sandragrace Martinez |             | 7       | 12.73%   | 32    | 32.99%   | 43           | 34.68%   |   | 82  | 29.71%  |
|                      | Cast Votes: | 55      | 100.00%  | 97    | 100.00%  | 124          | 100.00%  |   | 276 | 100.00% |

### **MARION COUNTY, TEXAS**

PRIMARY ELECTION

3/1/2022

Page 3

# Official Results Registered Voters 1461 of 7508 = 19.46% Precincts Reporting 10 of 10 = 100.00% Paper Sheets Counted

# Commissioner of Agriculture - DEMOCRATIC PARTY

| ,       | Precincts |         | Voters |            |       |  |  |
|---------|-----------|---------|--------|------------|-------|--|--|
| Counted | Total     | Percent |        | Registered | 3     |  |  |
| 10      | 10        | 100.00% | 304    | 7,508      | 4.05% |  |  |

| Choice     | Party       | Absente | e Voting | Earl | y Voting | Election Da | y Voting | Total       |
|------------|-------------|---------|----------|------|----------|-------------|----------|-------------|
| Susan Hays |             | 38      | 69.09%   | 84   | 86.60%   | 106         | 82.17%   | 228 81.14%  |
| Ed Ireson  |             | 17      | 30.91%   | 13   | 13.40%   | 23          | 17.83%   | 53 18.86%   |
|            | Cast Votes: | 55      | 100.00%  | 97   | 100.00%  | 129         | 100.00%  | 281 100.00% |

# Railroad Commissioner - DEMOCRATIC PARTY

| F       | recincts |         | Voters  |            |         |  |  |
|---------|----------|---------|---------|------------|---------|--|--|
| Counted |          | Percent | Ballots | Registered | Percent |  |  |
| 10      | 10       | 100.00% | 304     | 7,508      | 4.05%   |  |  |

| Choice       | Party       | Absentee Voting | Early Voting | Election Day Voting | Total       |
|--------------|-------------|-----------------|--------------|---------------------|-------------|
| Luke Warford |             | 53 100.00%      | 95 100.00%   | 118 100.00%         | 266 100.00% |
|              | Cast Votes: | 53 100.00%      | 95 100.00%   | 118 100.00%         | 266 100.00% |

# Justice, Supreme Court, Place 3 - DEMOCRATIC PARTY

| ı                     | recincts |         | Voters     |       |       |  |
|-----------------------|----------|---------|------------|-------|-------|--|
| Counted Total Percent |          | Ballots | Registered | 3     |       |  |
| 10                    | 10       | 100.00% | 304        | 7,508 | 4.05% |  |

| Choice        | Party       | <b>Absentee Voting</b> | Ea | rly Voting | <b>Election Day Voting</b> | Total       |
|---------------|-------------|------------------------|----|------------|----------------------------|-------------|
| Erin A Nowell |             | 54 100.00%             | 9  | 2 100.00%  | 114 100.00%                | 260 100.00% |
|               | Cast Votes: | 54 100.00%             | 9  | 2 100.00%  | 114 100.00%                | 260 100.00% |

# Justice, Supreme Court, Place 5 - DEMOCRATIC PARTY

| į | ı             | recincts |         | Voters  |            |         |  |  |
|---|---------------|----------|---------|---------|------------|---------|--|--|
|   |               |          | Percent | Ballots | Registered | Percent |  |  |
| × | 10 10 100.00% |          | 304     | 7,508   | 4.05%      |         |  |  |

| Choice         | Party       | Absentee | Voting  | Early | y Voting | Election Day | y Voting | Total       |
|----------------|-------------|----------|---------|-------|----------|--------------|----------|-------------|
| Amanda Reichek |             | 54       | 100.00% | 94    | 100.00%  | 117          | 100.00%  | 265 100.00% |
|                | Cast Votes: | 54       | 100.00% | 94    | 100.00%  | 117          | 100.00%  | 265 100,00% |

# **Cumulative Results Report ELECTION PRIMARY 2022** 2:14 PM

Run Time

Run Date

### **MARION COUNTY, TEXAS**

**PRIMARY ELECTION** 

3/1/2022

Page 4

## Official Results **Registered Voters** 1461 of 7508 = 19.46% **Precincts Reporting** 10 of 10 = 100.00% **Paper Sheets Counted**

# Justice, Supreme Court, Place 9 - DEMOCRATIC PARTY

03/10/2022

| _             | recincts      |         | Voters  |                   |       |  |  |
|---------------|---------------|---------|---------|-------------------|-------|--|--|
| Counted Total |               | Percent | Ballots | Registered Percer |       |  |  |
| 10            | 10 10 100.00% |         | 304     | 7,508             | 4.05% |  |  |

| Choice                                 | Party       | Absentee Voting | Early Voting | <b>Election Day Voting</b> | Total       |
|--|-------------|-----------------|--------------|----------------------------|-------------|
| Julia Maldonado                        |             | 54 100.00%      | 94 100.00%   | 115 100.00%                | 263 100.00% |
| ······································ | Cast Votes: | 54 100.00%      | 94 100.00%   | 115 100.00%                | 263 100.00% |

# Judge, Court of Criminal Appeals, Place 5 - DEMOCRATIC PARTY

| l                     | Precincts |         | Voters  |       |       |  |
|-----------------------|-----------|---------|---------|-------|-------|--|
| Counted Total Percent |           | Ballots | Percent |       |       |  |
| 10                    | 10        | 100.00% | 304     | 7,508 | 4.05% |  |

| Choice       | Party                                   | Absentee | Voting  | Early | y Voting | Election Day | / Voting | Total         |
|--------------|---|----------|---------|-------|----------|--------------|----------|---------------|
| Dana Huffman | *************************************** | 54       | 100.00% | 94    | 100.00%  | 117          | 100.00%  | 265 € 100.00% |
|              | Cast Votes:                             | 54       | 100.00% | 94    | 100.00%  | 117          | 100.00%  | 265 100.00%   |

## Judge, Court of Criminal Appeals, Place 6 - DEMOCRATIC PARTY

| ı       | Precincts | ·       |         | Voters     |         |
|---------|-----------|---------|---------|------------|---------|
| Counted | Total     | Percent | Ballots | Registered | Percent |
| 10      | 10        | 100.00% | 304     | 7,508      | 4.05%   |

| Choice         | Party       | Absentee Voting | Early Voting | <b>Election Day Voting</b> | Total       |
|----------------|-------------|-----------------|--------------|----------------------------|-------------|
| Robert Johnson |             | 54 100.00%      | 93 100.00%   | 115 100.00%                | 262 100.00% |
|                | Cast Votes: | 54 100.00%      | 93 100.00%   | 115 100.00%                | 262 100.00% |

# United States Representative, District No. 1 - REPUBLICAN PARTY

|         | recincts      |         |       | Voters     |        |  |
|---------|---------------|---------|-------|------------|--------|--|
| Counted | Counted Total |         | 1     | Registered | 1      |  |
| 10      | 10            | 100.00% | 1,157 | 7,508      | 15.41% |  |

| Choice               | Party       | Absente | e Voting | Earl | y Voting | Election Da | y Voting |       | Total   |
|----------------------|-------------|---------|----------|------|----------|-------------|----------|-------|---------|
| Joe McDaniel         |             | 5       | 41.67%   | 166  | 42.67%   | 284         | 43.69%   | 455   | 43.29%  |
| Nathaniel Moran      |             | 6       | 50.00%   | 172  | 44.22%   | 288         | 44.31%   | 466   | 44.34%  |
| Aditya "A.D." Atholi |             | 0       | 0.00%    | 31   | 7.97%    | 37          | 5.69%    | 68    | 6.47%   |
| John Porro           |             | 1       | 8.33%    | 20   | 5.14%    | 41          | 6.31%    | 62    | 5.90%   |
|                      | Cast Votes: | 12      | 100.00%  | 389  | 100.00%  | 650         | 100.00%  | 1,051 | 100.00% |

### **MARION COUNTY, TEXAS**

PRIMARY ELECTION

3/1/2022

Page 5

# Official Results Registered Voters 1461 of 7508 = 19.46% Precincts Reporting 10 of 10 = 100.00% Paper Sheets Counted

## Governor - REPUBLICAN PARTY

| F       | recincts |         |       | Voters     |        |
|---------|----------|---------|-------|------------|--------|
| Counted |          | Percent |       | Registered |        |
| 10      | 10       | 100.00% | 1,157 | 7,508      | 15.41% |

| Choice          | Party       | Absentee | e Voting | Early | y Voting | Election Day | y Voting |       | Total   |
|-----------------|-------------|----------|----------|-------|----------|--------------|----------|-------|---------|
| Don Huffines    |             | 1        | 8.33%    | 31    | 7.26%    | 64           | 8.99%    | 96    | 8.34%   |
| Paul Belew      |             | 1        | 8.33%    | 0     | 0.00%    | 8            | 1.12%    | 9     | 0.78%   |
| Danny Harrison  |             | 0        | 0.00%    | 2     | 0.47%    | 3            | 0.42%    | 5     | 0.43%   |
| Allen B. West   |             | 0        | 0.00%    | 87    | 20.37%   | 84           | 11.80%   | 171   | 14.86%  |
| Greg Abbott     |             | 10       | 83.33%   | 290   | 67.92%   | 500          | 70.22%   | 800   | 69.50%  |
| Kandy Kaye Horn |             | 0        | 0.00%    | . 2   | 0.47%    | 4            | 0.56%    | 6     | 0.52%   |
| Rick Perry      |             | 0        | 0.00%    | 4     | 0.94%    | 14           | 1.97%    | 18    | 1,56%   |
| Chad Prather    |             | 0        | 0.00%    | . 11  | 2.58%    | 35           | 4.92%    | 46    | 4.00%   |
|                 | Cast Votes: | 12       | 100.00%  | 427   | 100.00%  | 712          | 100.00%  | 1,151 | 100.00% |

## Lieutenam Governor - REPUBLICAN PARTY

| F       | recincts | ,       |         | Voters     |         |
|---------|----------|---------|---------|------------|---------|
| Counted | Total    | Percent | Ballots | Registered | Percent |
| 10      | 10       | 100.00% | 1,157   | 7,508      | 15.41%  |

| Choice          | Party       | Absente | e Voting | Earl | y Voting | Election Day | y Voting |     | Total      |
|-----------------|-------------|---------|----------|------|----------|--------------|----------|-----|------------|
| Daniel Miller   |             | 1       | 8.33%    | 50   | 12.59%   | 108          | 16.72%   | 15  | 9 15.07%   |
| Trayce Bradford |             | 0       | 0.00%    | 23   | 5.79%    | 37           | 5.73%    | (   | 5.69%      |
| Todd M. Bullis  |             | 0       | 0.00%    | 10   | 2.52%    | 19           | 2.94%    | . 2 | 2.75%      |
| Dan Patrick     |             | 8       | 66.67%   | 289  | 72.80%   | 443          | 68.58%   | 74  | 10 70.14%  |
| Zach Vance      |             | 3       | 25.00%   | 9    | 2.27%    | 12           | 1.86%    |     | 24 2.27%   |
| Aaron Sorrells  |             | 0       | 0.00%    | 16   | 4.03%    | 27           | 4.18%    |     | 13 4.08%   |
|                 | Cast Votes: | 12      | 100.00%  | 397  | 100.00%  | 646          | 100.00%  | 1,0 | 55 100.00% |

# Attorney General - REPUBLICAN PARTY

|         | Precincts | ,       |       | Voters     |        |
|---------|-----------|---------|-------|------------|--------|
| Counted | Total     | Percent |       | Registered |        |
| 10      | 10        | 100.00% | 1,157 | 7,508      | 15.41% |

| Choice         | Party       | Absente | Voting  | Earl | y Voting | Election Da | y Voting |           | Total   |
|----------------|-------------|---------|---------|------|----------|-------------|----------|-----------|---------|
| Louie Gohmert  |             | 6       | 50.00%  | 178  | 42.18%   | 289         | 41.17%   | 473       | 41.64%  |
| Eva Guzman     |             | 2       | 16.67%  | 37   | 8.77%    | 60          | 8.55%    | 99        | 8.71%   |
| Ken Paxton     |             | 3       | 25.00%  | 156  | 36.97%   | 236         | 33.62%   | 395       | 34,77%  |
| George P. Bush |             | 1       | 8.33%   | 51   | 12.09%   | 117         | 16.67%   | 169       | 14.88%  |
|                | Cast Votes: | 12      | 100.00% | 422  | 100.00%  | 702         | 100.00%  | <br>1,136 | 100.00% |

### **MARION COUNTY, TEXAS**

**PRIMARY ELECTION** 

3/1/2022

Page 6

# Official Results

**Registered Voters** 1461 of 7508 = 19.46%

Precincts Reporting 10 of 10 = 100.00%

Paper Sheets Counted

1,46

# Comptroller of Public Accounts - REPUBLICAN PARTY

|         | Precincts | 1       | Voters  |                 |        |  |  |  |
|---------|-----------|---------|---------|-----------------|--------|--|--|--|
| Counted | Total     | Percent | Ballots | Registered Perc |        |  |  |  |
| 10      | 10        | 100.00% | 1,157   | 7,508           | 15.41% |  |  |  |

| Choice   | Party       | Absente | e Voting | Earl | y Voting | Election Da | y Voting | Total       |
|--|-------------|---------|----------|------|----------|-------------|----------|-------------|
| Glenn Hegar  |             | 11      | 91.67%   | 289  | 78.32%   | 489         | 82.05%   | 789 80.76%  |
| Mark V. Goloby   |             | 1       | 8.33%    | 80   | 21.68%   | 107         | 17.95%   | 188 19.24%  |
| <u>. – diriyyy madallama alian a</u> | Cast Votes: | 12      | 100.00%  | 369  | 100.00%  | 596         | 100.00%  | 977 100.00% |

### Commissioner of the General Land Office - REPUBLICAN PARTY

|         | Precincts | }       | Voters  |            |         |  |  |  |  |
|---------|-----------|---------|---------|------------|---------|--|--|--|--|
| Counted | Total     | Percent | Ballots | Registered | Percent |  |  |  |  |
| 10      | 10        | 100.00% | 1,157   | 7,508      | 15.41%  |  |  |  |  |

| Choice          | Party      | Absentee | Voting  | Earl | y Voting | Election Day | / Voting |     | Total   |
|-----------------|------------|----------|---------|------|----------|--------------|----------|-----|---------|
| Victor Avila    |            | 3        | 27.27%  | 45   | 12.68%   | 69           | 12.19%   | 117 | 12,55%  |
| Jon Spiers      |            | 0        | 0.00%   | 48   | 13.52%   | 67           | 11.84%   | 115 | 12.34%  |
| Don W. Minton   |            | 2        | 18.18%  | 58   | 16.34%   | 83           | 14.66%   | 143 | 15.34%  |
| Rufus Lopez     |            | 0        | 0.00%   | 13   | 3.66%    | 21           | 3.71%    | 34  | 3,65%   |
| Ben Armenta     |            | 0        | 0.00%   | 7    | 1.97%    | 15           | 2.65%    | 22  | 2.36%   |
| Dawn Buckingham |            | 6        | 54.55%  | 121  | 34.08%   | 155          | 27.39%   | 282 | 30.26%  |
| Weston Martinez |            | 0        | 0.00%   | 13   | 3.66%    | 26           | 4.59%    | 39  | 4.18%   |
| Tim Westley     |            | 0        | 0.00%   | 50   | 14.08%   | 130          | 22.97%   | 180 | 19.31%  |
| Ca              | ast Votes: | 11       | 100.00% | 355  | 100.00%  | 566          | 100.00%  | 932 | 100.00% |

# Commissioner of Agriculture - REPUBLICAN PARTY

| ı       | Precincts |         | Voters  |            |         |  |  |  |  |
|---------|-----------|---------|---------|------------|---------|--|--|--|--|
| Counted |           | Percent | Ballots | Registered | Percent |  |  |  |  |
| 10      | 10        | 100.00% | 1,157   | 7,508      | 15.41%  |  |  |  |  |

| Choice           | Party       | Absente | e Voting | Early | y Voting | Election Day | y Voting | Total       |
|------------------|-------------|---------|----------|-------|----------|--------------|----------|-------------|
| Carey A. Counsil |             | 5       | 41.67%   | 37    | 9.97%    | 76           | 12.50%   | 118 11.91%  |
| James White      |             | 2       | 16.67%   | 140   | 37.74%   | 233          | 38.32%   | 375 37.84%  |
| Sid Miller       |             | 5       | 41.67%   | 194   | 52.29%   | 299          | 49.18%   | 498 50.25%  |
|                  | Cast Votes: | 12      | 100.00%  | 371   | 100.00%  | 608          | 100.00%  | 991 100.00% |

### **MARION COUNTY, TEXAS**

PRIMARY ELECTION

3/1/2022

Page 7

# Official Results Registered Voters 1461 of 7508 = 19.46% Precincts Reporting 10 of 10 = 100.00% Paper Sheets Counted

## Railroad Commissioner - REPUBLICAN PARTY

| ı       | Precincts |         | Voters  |            |         |  |  |  |
|---------|-----------|---------|---------|------------|---------|--|--|--|
| Counted | Total     | Percent | Ballots | Registered | Percent |  |  |  |
| 10      | 10        | 100.00% | 1,157   | 7,508      | 15.41%  |  |  |  |

| Choice                 | Party       | Absente | e Voting | Earl | y Voting | Election Da | y Voting |     | Tota    |
|------------------------|-------------|---------|----------|------|----------|-------------|----------|-----|---------|
| Dawayne Tipton         | ,           | 0       | 0.00%    | 61   | 16.99%   | 105         | 17.86%   | 166 | 17.31%  |
| Wayne Christian        |             | 9       | 75.00%   | 171  | 47.63%   | 224         | 38.10%   | 404 | 42.13%  |
| Marvin "Sarge" Summers |             | 0       | 0.00%    | 45   | 12.53%   | 103         | 17.52%   | 148 | 15.43%  |
| Tom Slocum Jr          |             | 0       | 0.00%    | 37   | 10.31%   | 73          | 12.41%   | 110 | 11.47%  |
| Sarah Stogner          |             | 3       | 25.00%   | 45   | 12.53%   | 83          | 14.12%   | 131 | 13.66%  |
|                        | Cast Votes: | 12      | 100.00%  | 359  | 100.00%  | 588         | 100.00%  | 959 | 100.00% |

## Justice, Supreme Court, Place 3 - REPUBLICAN PARTY

|         | Precincts | •       | Voters                   |       |        |  |  |  |
|---------|-----------|---------|--------------------------|-------|--------|--|--|--|
| Counted | Total     | Percent | Ballots Registered Perce |       |        |  |  |  |
| 10      | 10        | 100.00% | 1,157                    | 7,508 | 15.41% |  |  |  |

| Choice         | Party       | Absentee \ | Voting  | Early | / Voting | Election Da | y Voting | Total       |
|----------------|-------------|------------|---------|-------|----------|-------------|----------|-------------|
| Debra Lehrmann |             | 10 1       | 100.00% | 352   | 100.00%  | 562         | 100.00%  | 924 100.00% |
|                | Cast Votes: | 10 1       | 100.00% | 352   | 100.00%  | 562         | 100.00%  | 924 100,00% |

### Justice, Supreme Court, Place 5 - REPUBLICAN PARTY

| ı       | recincts |         | Voters  |            |         |  |  |  |
|---------|----------|---------|---------|------------|---------|--|--|--|
| Counted | Total    | Percent | Ballots | Registered | Percent |  |  |  |
| 10      | 10       | 100.00% | 1,157   | 7,508      | 15.41%  |  |  |  |

| Choice        | Party       | Absentee Voting | Early Voting | <b>Election Day Voting</b> | Total       |
|---------------|-------------|-----------------|--------------|----------------------------|-------------|
| Rebeca Huddle |             | 10 100.00%      | 344 100.00%  | 552 100.00%                | 906 100.00% |
|               | Cast Votes: | 10 100.00%      | 344 100.00%  | 552 100.00%                | 906 100.00% |

# Justice, Supreme Court, Place 9 - REPUBLICAN PARTY

|         | recincts |         | Voters  |            |           |  |  |  |
|---------|----------|---------|---------|------------|-----------|--|--|--|
| Counted | Total    | Percent | Ballots | Registered | 1 Percent |  |  |  |
| 10      | 10       | 100.00% | 1,157   | 7,508      | 15.41%    |  |  |  |

| Choice           | Party       | Absentee | Voting  | Earl | y Voting | Election Day | / Voting | Total       |
|------------------|-------------|----------|---------|------|----------|--------------|----------|-------------|
| David J. Schenck |             | 9        | 81.82%  | 178  | 50.86%   | 308          | 54.13%   | 495 53.23%  |
| Evan Young       |             | . 2      | 18.18%  | 172  | 49.14%   | 261          | 45.87%   | 435 46.77%  |
|                  | Cast Votes: | 11       | 100.00% | 350  | 100.00%  | 569          | 100.00%  | 930 100.00% |

### **MARION COUNTY, TEXAS**

PRIMARY ELECTION

3/1/2022

Page 8

# Official Results Registered Voters

1461 of 7508 = 19.46%

Precincts Reporting 10 of 10 = 100.00%

**Paper Sheets Counted** 

1.46

# Judge, Court of Criminal Appeals, Place 2 - REPUBLICAN PARTY

|         | recincts | •       | Voters |            |        |  |  |
|---------|----------|---------|--------|------------|--------|--|--|
| Counted |          | Percent | d .    | Registered | 3      |  |  |
| 10      | 10       | 100.00% |        |            | 15.41% |  |  |

| Choice        | Party       | Absentee Voting | Early Voting | <b>Election Day Voting</b> | Total       |
|---------------|-------------|-----------------|--------------|----------------------------|-------------|
| Mary Lou Keel |             | 10 100.00%      | 347 100.00%  | 552 100.00%                | 909 100.00% |
|               | Cast Votes: | 10 100.00%      | 347 100.00%  | 552 100.00%                | 909 100.00% |

# Judge, Court of Criminal Appeals, Place 5 - REPUBLICAN PARTY

|         | Precincts | i .     |       | Voters     |         |
|---------|-----------|---------|-------|------------|---------|
| Counted | Total     | Percent | 1     | Registered | Percent |
| 10      | 10        | 100.00% | 1,157 | 7,508      | 15.41%  |

| Choice       | Party       | Absentee | Voting  | Earl | y Voting | Election Da | y Voting | Total       |
|--------------|-------------|----------|---------|------|----------|-------------|----------|-------------|
| Scott Walker |             | 7        | 63.64%  | 227  | 64.67%   | 356         | 60.96%   | 590 62.37%  |
| Clint Morgan |             | 4        | 36.36%  | 124  | 35.33%   | 228         | 39.04%   | 356 37.63%  |
|              | Cast Votes: | 11       | 100.00% | 351  | 100.00%  | 584         | 100.00%  | 946 100.00% |

# Judge, Court of Criminal Appeals, Place 6 - REPUBLICAN PARTY

|         | Precincts | 1       | Voters  |            |         |  |
|---------|-----------|---------|---------|------------|---------|--|
| Counted | 3         | Percent | Ballots | Registered | Percent |  |
| 10      | 10        | 100.00% | 1,157   | 7,508      | 15.41%  |  |

| Choice                | Party       | Absente | e Voting | Early | y Voting | Election Day | y Voting | Total       |
|-----------------------|-------------|---------|----------|-------|----------|--------------|----------|-------------|
| Jesse F. McClure, III |             | 10      | 100.00%  | 345   | 100.00%  | 538          | 100.00%  | 893 100.00% |
|                       | Cast Votes: | 10      | 100.00%  | 345   | 100.00%  | 538          | 100.00%  | 893 100.00% |

# Member, State Board of Education, District No. 9 - REPUBLICAN PARTY

|         | Precincts |         |         | Voters     |         |
|---------|-----------|---------|---------|------------|---------|
| Counted | Total     | Percent | Ballots | Registered | Percent |
| 10      | 10        | 100.00% | 1,157   | 7,508      | 15.41%  |

| Choice         | Party       | Absentee Vo | oting | Early | y Voting | Election Day | y Voting |             |
|----------------|-------------|-------------|-------|-------|----------|--------------|----------|-------------|
| Keven M. Ellis |             | 10 10       | 0.00% | 345   | 100.00%  | 533          | 100.00%  |             |
|                | Cast Votes: | 10 10       | 0.00% | 345   | 100.00%  | 533          | 100.00%  | 888 100.00% |

### **MARION COUNTY, TEXAS**

PRIMARY ELECTION

3/1/2022

Page 9

# Official Results Registered Voters 1461 of 7508 = 19.46% Precincts Reporting 10 of 10 = 100.00% Paper Sheets Counted 1.460

## State Senator, District No. 1 - REPUBLICAN PARTY

| ı       | recincts | i       | Voters  |            |        |  |  |
|---------|----------|---------|---------|------------|--------|--|--|
| Counted | Total    | Percent | Ballots | Registered |        |  |  |
| 10      | 10       | 100.00% | 1,157   | 7,508      | 15.41% |  |  |

| Choice       | Party       | Absentee | Voting  | Earl | y Voting | Election Da | y Voting | Total       |
|--------------|-------------|----------|---------|------|----------|-------------|----------|-------------|
| Bryan Hughes |             | 11       | 100.00% | 367  | 100.00%  | 575         | 100.00%  | 953 100.00% |
|              | Cast Votes: | 11       | 100.00% | 367  | 100.00%  | 575         | 100.00%  | 953 100.00% |

## State Representative, District No. 7 - REPUBLICAN PARTY

| ı       | Precincts |         | Voters  |            |         |  |
|---------|-----------|---------|---------|------------|---------|--|
| Counted | Total     | Percent | Ballots | Registered | Percent |  |
| 10      | 10        | 100.00% | 1,157   | 7,508      | 15.41%  |  |

| Choice   | Party       | Absentee Voting | Early Voting | <b>Election Day Voting</b> | Total       |
|----------|-------------|-----------------|--------------|----------------------------|-------------|
| Jay Dean |             | 11 100.00%      | 366 100.00%  | 562 100.00%                | 939 100.00% |
|          | Cast Votes: | 11 100.00%      | 366 100.00%  | 562 100.00%                | 939 100.00% |

# Chief Justice, 6th Court of Appeals District - REPUBLICAN PARTY

| ı                     | recincts | i                       | Voters |       |        |  |
|-----------------------|----------|-------------------------|--------|-------|--------|--|
| Counted Total Percent |          | Ballots Registered Perc |        |       |        |  |
| 10                    | 10       | 100.00%                 | 1,157  | 7,508 | 15.41% |  |

| Choice           | Party           | Absentee Voting | Ear | y Voting | <b>Election Day Voting</b> | Total         |
|------------------|-----------------|-----------------|-----|----------|----------------------------|---------------|
| Scott E. Stevens |                 | 10 100.009      | 353 | 100.00%  | 554 100.009                | 6 917 100.00% |
|                  | <br>Cast Votes: | 10 100.009      | 353 | 100.00%  | 554 100.009                | 917 100.00%   |

# District Judge, 115th Judicial District - REPUBLICAN PARTY

| ı                     | Precincts | i                        | Voters |       |        |  |
|-----------------------|-----------|--------------------------|--------|-------|--------|--|
| Counted Total Percent |           | Ballots Registered Perce |        |       |        |  |
| 10                    | 10        | 100.00%                  | 1,157  | 7,508 | 15.41% |  |

| Choice      | Party       | Absentee Voting | Early Voting | <b>Election Day Voting</b> | Total       |
|-------------|-------------|-----------------|--------------|----------------------------|-------------|
| Dean Fowler |             | 12 100.00%      | 358 100.00%  | 556 100.00%                | 926 100.00% |
|             | Cast Votes: | 12 100.00%      | 358 100.00%  | 556 100.00%                | 926 100.00% |

### **MARION COUNTY, TEXAS**

PRIMARY ELECTION

3/1/2022

Page 10

# Official Results Registered Voters 1461 of 7508 = 19.46% Precincts Reporting 10 of 10 = 100.00% Paper Sheets Counted

# District Judge, 276th Judicial District - REPUBLICAN PARTY

| ı                     | Precincts |         | Voters            |       |        |  |
|-----------------------|-----------|---------|-------------------|-------|--------|--|
| Counted Total Percent |           | Ballots | Registered Percen |       |        |  |
| 10                    | 10        | 100.00% | 1,157             | 7,508 | 15.41% |  |

| Choice            | Party       | Absentee Voting | Early Voting | <b>Election Day Voting</b> | Total       |
|-------------------|-------------|-----------------|--------------|----------------------------|-------------|
| Michael P. Kopech |             | 10 100.00%      | 345 100.00%  | 537 100.00%                | 892 100.00% |
|                   | Cast Votes: | 10 100.00%      | 345 100.00%  | 537 100.00%                | 892 100,00% |

# County Judge - REPUBLICAN PARTY

| 1                     | recincts |                           | Voters |       |        |  |
|-----------------------|----------|---------------------------|--------|-------|--------|--|
| Counted Total Percent |          | Ballots Registered Percen |        |       |        |  |
| 10                    | 10       | 100.00%                   | 1,157  | 7,508 | 15.41% |  |

| Choice            | Party       | Absente | e Voting | Earl | y Voting | Election Day | y Voting | Total       |
|-------------------|-------------|---------|----------|------|----------|--------------|----------|-------------|
| Leward J. Lafleur |             | 11      | 100.00%  | 368  | 100.00%  | 603          | 100.00%  | 982 100.00% |
|                   | Cast Votes: | 11      | 100.00%  | 368  | 100.00%  | 603          | 100.00%  | 982 100.00% |

### District Clerk - REPUBLICAN PARTY

| ſ                     | recincts |         | Voters           |       |        |  |
|-----------------------|----------|---------|------------------|-------|--------|--|
| Counted Total Percent |          | Ballots | Registered Perce |       |        |  |
| 10                    | 10       | 100.00% | 1,157            | 7,508 | 15.41% |  |

| Choice            | Party       | Absente | e Voting | Earl | y Voting | Election Da | y Voting | Total         |
|-------------------|-------------|---------|----------|------|----------|-------------|----------|---------------|
| Susan E. Anderson |             | 11      | 100.00%  | 379  | 100.00%  | 615         | 100.00%  | 1,005 100.00% |
|                   | Cast Votes: | 11      | 100.00%  | 379  | 100.00%  | 615         | 100.00%  | 1,005 100.00% |

# County Clerk - REPUBLICAN PARTY

|               | ı  | Precincts |         | Voters     |         |        |  |
|---------------|----|-----------|---------|------------|---------|--------|--|
| Counted Total |    | Percent   | Ballots | Registered | Percent |        |  |
|               | 10 | 10        | 100.00% | 1,157      | 7,508   | 15.41% |  |

| Choice        | Party       | Absentee Voting | Early Voting | <b>Election Day Voting</b> | Total       |
|---------------|-------------|-----------------|--------------|----------------------------|-------------|
| Kimberly Wise |             | 11 100.00%      | 374 100.00%  | 591 100.00%                | 976 100.00% |
|               | Cast Votes: | 11 100.00%      | 374 100.00%  | 591 100.00%                | 976 100.00% |

### **MARION COUNTY, TEXAS**

**PRIMARY ELECTION** 

3/1/2022

Page 11

# Official Results Registered Voters 1461 of 7508 = 19.46% Precincts Reporting 10 of 10 = 100.00% Paper Sheets Counted 1.460

# County Treasurer - REPUBLICAN PARTY

| ı       | recincts |         | Voters  |            |        |  |
|---------|----------|---------|---------|------------|--------|--|
| Counted | Total    | Percent | Ballots | Registered |        |  |
| 10      | 10       | 100.00% | 1,157   | 7,508      | 15.41% |  |

| Choice        | Party       | Absente | e Voting | Early | y Voting | Election Da | y Voting | Total       |
|---------------|-------------|---------|----------|-------|----------|-------------|----------|-------------|
| B J Westbrook | . :::       | 11      | 100.00%  | 373   | 100.00%  | . 590       | 100.00%  | 974 100.00% |
|               | Cast Votes: | 11      | 100.00%  | 373   | 100.00%  | 590         | 100.00%  | 974 100.00% |

# County Commissioner, Precinct No. 2 - REPUBLICAN PARTY

| ı             | Precincts | :       | Voters  |            |         |  |
|---------------|-----------|---------|---------|------------|---------|--|
| Counted Total |           | Percent | Ballots | Registered | Percent |  |
| 3             | 3         | 100.00% | 290     | 1,884      | 15.39%  |  |

| Choice            | Party       | Absentee Voting | Early Voting | <b>Election Day Voting</b> | Total       |
|-------------------|-------------|-----------------|--------------|----------------------------|-------------|
| Jacob E. Pattison |             | 3 100.00%       | 112 100.00%  | 135 100.00%                | 250 100.00% |
|                   | Cast Votes: | 3 100.00%       | 112 100.00%  | 135 100.00%                | 250 100.00% |

# County Commissioner, Precinct No. 4 - REPUBLICAN PARTY

| l                     | Precincts | i man   | Voters             |       |        |  |
|-----------------------|-----------|---------|--------------------|-------|--------|--|
| Counted Total Percent |           | Ballots | Ballots Registered |       |        |  |
| 3                     | 3         | 100.00% | 318                | 1,849 | 17.20% |  |

| Choice       | Party       | Absentee Voting | Early Voting | Election Day Voting | Total       |
|--------------|-------------|-----------------|--------------|---------------------|-------------|
| Gered R. Lee |             | 3 100.00%       | 95 100.00%   | 150 100.00%         | 248 100.00% |
|              | Cast Votes: | 3 100.00%       | 95 100.00%   | 150 100.00%         | 248 100.00% |

### Justice of the Peace, Precinct No. 1 - REPUBLICAN PARTY

|               | recincts |         | Voters |       |         |  |  |
|---------------|----------|---------|--------|-------|---------|--|--|
| Counted Total |          | Percent |        |       | Percent |  |  |
| 8             | 8        | 100.00% | 963    | 5,626 | 17.12%  |  |  |

| Choice      | Party       | Absentee Voting | Early Voting | <b>Election Day Voting</b> | Total       |
|-------------|-------------|-----------------|--------------|----------------------------|-------------|
| Jan Weesner |             | 10 100.00%      | 319 100.00%  | 464 100.00%                | 793 100.00% |
|             | Cast Votes: | 10 100.00%      | 319 100.00%  | 464 100.00%                | 793 100.00% |

### **MARION COUNTY, TEXAS**

PRIMARY ELECTION

3/1/2022

Page 12

# Official Results Registered Voters 1461 of 7508 = 19.46% Precincts Reporting 10 of 10 = 100.00% Paper Sheets Counted

# Justice of the Peace, Precinct No. 2 - REPUBLICAN PARTY

| ı                    | Precincts |         | Voters |            |        |  |
|----------------------|-----------|---------|--------|------------|--------|--|
| Counted Total Percei |           |         | 1      | Registered |        |  |
|                      |           | 100.00% | 194    | 1,882      | 10.31% |  |

| Choice     | Party       | Absentee | Voting | Early | y Voting | Election Da | y Voting | Total       |
|------------|-------------|----------|--------|-------|----------|-------------|----------|-------------|
| Alan Biddy |             | 0        | 0.00%  | 54    | 100.00%  | 113         | 100.00%  | 167 100.00% |
|            | Cast Votes: | 0        | 0.00%  | 54    | 100.00%  | 113         | 100.00%  | 167 100.00% |

### **County Chairman - REPUBLICAN PARTY**

| ı             | Precincts |         | Voters |            |        |  |  |
|---------------|-----------|---------|--------|------------|--------|--|--|
| Counted Total |           | Percent |        | Registered |        |  |  |
| 10            | 10        | 100.00% | 1,157  | 7,508      | 15.41% |  |  |

| Choice         | Party       | Absentee | · Voting | Early | y Voting | Election Day | y Voting | Total         |
|----------------|-------------|----------|----------|-------|----------|--------------|----------|---------------|
| Hunter Bonner  |             | 6        | 54.55%   | 185   | 46.60%   | 313          | 49.21%   | 504 48.28%    |
| Scott Stebbins |             | 5        | 45.45%   | 212   | 53.40%   | 323          | 50.79%   | 540 51.72%    |
|                | Cast Votes: | 11       | 100.00%  | 397   | 100.00%  | 636          | 100.00%  | 1,044 100.00% |

### **Proposition 1 - REPUBLICAN PARTY**

| ł       | Precincts             | i       | Voters |                       |        |  |  |  |
|---------|-----------------------|---------|--------|-----------------------|--------|--|--|--|
| Counted | Counted Total Percent |         |        | Ballots Registered Pe |        |  |  |  |
| 10      | 10                    | 100.00% | 1,157  | 7,508                 | 15.41% |  |  |  |

| Choice | Party       | Absente | e Voting | Early | y Voting | Election Day | y Voting | Total         |
|--------|-------------|---------|----------|-------|----------|--------------|----------|---------------|
| YES    |             | 11      | 91.67%   | 412   | 98.10%   | 676          | 96.85%   | 1,099 97.26%  |
| NO W 4 | ·           | 1       | 8.33%    | 8     | 1.90%    | 22           | 3.15%    | 31 2.74%      |
|        | Cast Votes: | 12      | 100.00%  | 420   | 100.00%  | 698          | 100.00%  | 1,130 100.00% |

### Proposition 2 - REPUBLICAN PARTY

| I       | Precincts | <b>.</b> | Voters  |            |         |  |  |
|---------|-----------|----------|---------|------------|---------|--|--|
| Counted | Total     | Percent  | Ballots | Registered | Percent |  |  |
| 10      | 10        | 100.00%  | 1,157   | 7,508      | 15.41%  |  |  |

| Choice | Party       | Absentee | Voting  | Earl | y Voting | Election Day | y Voting |     | Total      |
|--------|-------------|----------|---------|------|----------|--------------|----------|-----|------------|
| YES    |             | 11       | 91.67%  | 322  | 79.51%   | 563          | 81.95%   | 8   | 196 81.16% |
| NO     |             | 1        | 8.33%   | 83   | 20.49%   | 124          | 18.05%   | 2   | 08 18.84%  |
|        | Cast Votes: | 12       | 100.00% | 405  | 100.00%  | 687          | 100.00%  | 1,1 | 04 100.00% |

### **MARION COUNTY, TEXAS**

PRIMARY ELECTION

3/1/2022

Page 13

# Official Results Registered Voters 1461 of 7508 = 19.46% Precincts Reporting 10 of 10 = 100.00% Paper Sheets Counted

## **Proposition 3 - REPUBLICAN PARTY**

| I                     | Precincts | i       | Voters  |       |        |  |  |  |
|-----------------------|-----------|---------|---------|-------|--------|--|--|--|
| Counted Total Percent |           | Ballots | Percent |       |        |  |  |  |
| 10                    | 10        | 100.00% | 1,157   | 7,508 | 15.41% |  |  |  |

| Choice | Party       | Absente | e Voting | Earl | y Voting | Election Day | / Voting | Total         |
|--------|-------------|---------|----------|------|----------|--------------|----------|---------------|
| YES    |             | 9       | 75.00%   | 367  | 87.59%   | 637          | 90.87%   | 1,013 89.49%  |
| NO     |             | 3       | 25.00%   | 52   | 12.41%   | 64           | 9.13%    | 119 10.51%    |
|        | Cast Votes: | 12      | 100.00%  | 419  | 100.00%  | 701          | 100.00%  | 1,132 100,00% |

### Proposition 4 - REPUBLICAN PARTY

| I       | Precincts |         | Voters  |            |         |  |  |  |
|---------|-----------|---------|---------|------------|---------|--|--|--|
| Counted | Total     | Percent | Ballots | Registered | Percent |  |  |  |
| 10      | 10        | 100.00% | 1,157   |            | 15.41%  |  |  |  |

| Choice | Party       | Absente | e Voting | Earl | y Voting | Election Da | y Voting |       | Total   |
|--------|-------------|---------|----------|------|----------|-------------|----------|-------|---------|
| YES    |             | 11      | 91.67%   | 393  | 95.39%   | 647         | 93.50%   | 1,051 | 94.18%  |
| NO     |             | . 1     | 8.33%    | 19   | 4.61%    | 45          | 6.50%    | 65    | 5.82%   |
|        | Cast Votes: | 12      | 100.00%  | 412  | 100.00%  | 692         | 100.00%  | 1,116 | 100.00% |

### **Proposition 5 - REPUBLICAN PARTY**

|         | Precincts | •       | Voters  |         |        |  |  |
|---------|-----------|---------|---------|---------|--------|--|--|
| Counted |           | Percent | Ballots | Percent |        |  |  |
| 10      | 10        | 100.00% | 1,157   | 7,508   | 15.41% |  |  |

| Choice | Party       | Absentee Vo | oting | Early | y Voting | Election Day | / Voting |       | Total   |
|--------|-------------|-------------|-------|-------|----------|--------------|----------|-------|---------|
| YES    |             | 8 60        | 6.67% | 376   | 91.04%   | 610          | 89.84%   | 994   | 90.04%  |
| NO     | 46          | 4 3         | 3.33% | 37    | 8.96%    | 69           | 10.16%   | 110   | 9.96%   |
|        | Cast Votes: | 12 10       | 0.00% | 413   | 100.00%  | 679          | 100.00%  | 1,104 | 100.00% |

# Proposition 6 - REPUBLICAN PARTY

| ı       | Precincts            | i .     | Voters |            |         |  |  |  |
|---------|----------------------|---------|--------|------------|---------|--|--|--|
| Counted | ounted Total Percent |         |        | Registered | Percent |  |  |  |
| 10      | 10                   | 100.00% |        | 7,508      | 15.41%  |  |  |  |

| Choice                                  | Party       | Absente | <b>Voting</b> | Earl | y Voting | Election Da | y Voting | Total         |
|---|-------------|---------|---------------|------|----------|-------------|----------|---------------|
| YES                                     |             | 11      | 91.67%        | 366  | 90.15%   | 607         | 90.73%   | 984 90.52%    |
| NO                                      |             | 1       | 8.33%         | 40   | 9.85%    | 62          | 9.27%    | 103 9.48%     |
| *************************************** | Cast Votes: | 12      | 100.00%       | 406  | 100.00%  | 669         | 100.00%  | 1,087 100.00% |

### **MARION COUNTY, TEXAS**

PRIMARY ELECTION

3/1/2022

Page 14

Official Results

Registered Voters

1461 of 7508 = 19.46%

Precincts Reporting

10 of 10 = 100.00%

Paper Sheets Counted

1.460

### **Proposition 7 - REPUBLICAN PARTY**

| ı             | Precincts |         | Voters  |            |         |  |  |  |
|---------------|-----------|---------|---------|------------|---------|--|--|--|
| Counted Total |           | Percent | Ballots | Registered | Percent |  |  |  |
| 10            | 10        | 100.00% | 1,157   | 7,508      | 15.41%  |  |  |  |

| Choice      | Party       | Absentee | Voting  | Earl | y Voting | Election Day | y Voting | Total         |
|-------------|-------------|----------|---------|------|----------|--------------|----------|---------------|
| YES         |             | 12       | 100.00% | 410  | 99.03%   | 690          | 98.71%   | 1,112 98.84%  |
| NO. Set set | · :         | : 0      | 0.00%   | 4    | 0.97%    | , a 9        | 1.29%    | 13 1,16%      |
|             | Cast Votes: | 12       | 100.00% | 414  | 100.00%  | 699          | 100.00%  | 1,125 100.00% |

# Proposition 8 - REPUBLICAN PARTY

| I  | Precincts |         | Voters |            |        |  |  |  |
|----|-----------|---------|--------|------------|--------|--|--|--|
|    |           | Percent |        | Registered |        |  |  |  |
| 10 | 10        | 100.00% | 1,157  | 7,508      | 15.41% |  |  |  |

| Choice                                  |                     | Party       | Absente | e Voting | Earl | y Voting | Election Da | y Voting | Total         |
|---|---------------------|-------------|---------|----------|------|----------|-------------|----------|---------------|
| YES                                     |                     |             | 11      | 91.67%   | 398  | 97.07%   | 656         | 94.93%   | 1,065 95.69%  |
| NO                                      | grow and the second |             | 1       | 8.33%    | 12   | 2.93%    | 35          | 5.07%    | 48 4.31%      |
| *************************************** |                     | Cast Votes: | 12      | 100.00%  | 410  | 100.00%  | 691         | 100.00%  | 1,113 100.00% |

### **Proposition 9 - REPUBLICAN PARTY**

| l       | Precincts            | i       | Voters |            |        |  |  |
|---------|----------------------|---------|--------|------------|--------|--|--|
| Counted | ounted Total Percent |         | i .    | Registered | 3      |  |  |
| 10      | 10                   | 100.00% | 1,157  | 7,508      | 15.41% |  |  |

| Choice | Party       | Absentee Votin | g Ear | ly Voting | Election Da | y Voting | Total         |
|--------|-------------|----------------|-------|-----------|-------------|----------|---------------|
| YES    |             | 8 66.67        | 6 395 | 95.18%    | 655         | 94.38%   | 1,058 94.38%  |
| NO     |             | 4 33.33        | 6 20  | 4.82%     | 39          | 5.62%    | 63 5.62%      |
|        | Cast Votes: | 12 100.00      | 6 415 | 100.00%   | 694         | 100.00%  | 1,121 100.00% |

### **Proposition 10 - REPUBLICAN PARTY**

| ı             | recincts | 3       | Voters  |            |         |  |  |  |
|---------------|----------|---------|---------|------------|---------|--|--|--|
| Counted Total |          | Percent | Ballots | Registered | Percent |  |  |  |
| 10            | 10       | 100.00% | 1,157   | 7,508      | 15.41%  |  |  |  |

| Choice | Party       | Absente | e Voting | Eai | ly Voting | <b>Election Da</b> | y Voting | Total         |
|--------|-------------|---------|----------|-----|-----------|--------------------|----------|---------------|
| YES    |             | 10      | 83.33%   | 403 | 98.53%    | 668                | 97.23%   | 1,081 97.56%  |
| NO     |             | 2       | 16.67%   | 6   | 1.47%     | 19                 | 2.77%    | 27 2.44%      |
|        | Cast Votes: | 12      | 100.00%  | 409 | 100.00%   | 687                | 100.00%  | 1,108 100,00% |